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Risposte

1. 6.263

2. 10.308

3. 11.921

4. 13.339

5. 12.599

6. 15.537

7. 17.606

8. 17.750

9. 7.512

10. 18.080

11. 10.049

12. 5.513

13. 11.306

14. 7.979

15. 8.511

16. 8.888

17. 9.165

18. 11.298

19. 15.155

20. 5.625

Risolvi ogni problema.

1) 3.635 + 2.628 = 6.263

2) 9.053 + 1.255 = 10.308

3) 9.706 + 2.215 = 11.921

4) 7.077 + 6.262 = 13.339

5) 9.549 + 3.050 = 12.599

6) 8.588 + 6.949 = 15.537

7) 8.963 + 8.643 = 17.606

8) 9.263 + 8.487 = 17.750

9) 6.102 + 1.410 = 7.512

10) 9.244 + 8.836 = 18.080

11) 7.401 + 2.648 = 10.049

12) 3.040 + 2.473 = 5.513

13) 6.616 + 4.690 = 11.306

14) 4.095 + 3.884 = 7.979

15) 4.547 + 3.964 = 8.511

16) 7.676 + 1.212 = 8.888

17) 8.030 + 1.135 = 9.165

18) 6.529 + 4.769 = 11.298

19) 8.848 + 6.307 = 15.155

20) 4.561 + 1.064 = 5.625
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Risolvi ogni problema.

17.750 11.921 13.339 10.308

7.512 10.049 5.513 18.080

17.606 12.599 6.263 15.537

1) 3.635 + 2.628 = 6.263

2) 9.053 + 1.255 = 10.308

3) 9.706 + 2.215 = 11.921

4) 7.077 + 6.262 = 13.339

5) 9.549 + 3.050 = 12.599

6) 8.588 + 6.949 = 15.537

7) 8.963 + 8.643 = 17.606

8) 9.263 + 8.487 = 17.750

9) 6.102 + 1.410 = 7.512

10) 9.244 + 8.836 = 18.080

11) 7.401 + 2.648 = 10.049

12) 3.040 + 2.473 = 5.513

Risposte

1. 6.263

2. 10.308

3. 11.921

4. 13.339

5. 12.599

6. 15.537

7. 17.606

8. 17.750

9. 7.512

10. 18.080

11. 10.049

12. 5.513

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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